	SNC 2D: Review for Final Examination


	NOTICES FOR THE EXAM
· Be on time, no extensions will be granted for lateness

· Be prepared, there will be absolutely no sharing of materials permitted

· There will be zero tolerance for talking during the exam

MATERIALS YOU WILL NEED
· A non programmable non graphing scientific calculator

· Ruler

· Pencils, extras in case of the unforeseen

· Eraser
· Textbook
	HOW TO PREPARE AND DO YOUR BEST

· Read over your notes and examples from class for each unit

· Re-do unit reviews

· Re-do unit tests

· Re-do the questions you struggle with until you are comfortable with them

· Complete the exam review

· Come for extra help

· Get a good night sleep before the exam

· Have a good breakfast the morning of the exam




Show all work for all questions on Scrap Paper
	DAY 1 REVIEW

	CHEMISTRY 

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet
	☐ re-do Chemistry  Unit Test 


Unit Checklist

☐I understand atomic structure, bonding rules, and the divisions of the periodic table
☐I understand the Law of Conservation of mass

☐I can distinguish between physical and chemical changes

☐I can create, understand the differences between, and name: Ionic, Molecular, and Polyatomic Compounds

☐I can balance chemical reactions

☐I can create and convert between word, skeleton, and balanced equations

☐I can recognize and describe synthesis, decomposition, combustion, single displacement, double displacement, combustion, and neutralization reactions

☐I can predict the products of a reaction if given the reactants and reaction type

☐I know the properties of and can name acids and bases

☐I know the pH scale and relative ratios of H+ to OH- ions at the ends and middle of the scale

☐I can determine the difference in concentration of solutions of different pHs

1. Indicate whether each is a physical or a chemical change.  Then supply the evidence that lead you to your decision.

a. Leaves turn colors in autumn    P or C   ____________________________________________________

b. A marshmallow is toasted over a fire  P or C   _______________________________________________

c. The ingredients of a salad are tossed  P or C   ________________________________________________

d. Old receipts are shredded in a paper shredder P or C   ________________________________________

e. An apple rots in the sun    P or C   _________________________________________________________

2. If 10g of aluminum sulphate is reacted with 15g of calcium hydroxide and 12g of aluminum hydroxide and an unknown amount of calcium sulphate is produced.  You, nearing completion of SNC 2D know how to determine the unknown mass of the remaining product.  You coolly tell your scientific team it must be....
	3. If the atoms were counted in Ga(NO3)2 the totals would be….
	

	a) 2 gallium, 2 nitrogen, and 6 oxygen
b) 2 gallium, 1 nitrogen, and 5 oxygen

c) 1 gallium, 2 nitrogen, and 6 oxygen

d) 1 gallium, 1 nitrogen, and 5 oxygen
	

	a) 
	

	
	

	4. In the process of neutralization….
	

	a) An ionic salt and water are formed as products

b) An ionic salt, water, and carbon dioxide are formed as products

c) Neither A or B accurately depict the products

d) Both A and B are possible depending on the base used
	

	b) 
	

	
	

	5. We balance chemical equations…
	

	a) Because mass is conserved in reactions

b) Because atoms are neither created or destroyed in reactions

c) Both A and B

d) Neither A or B are the reason
	

	c) 
	


6. Convert between name and chemical formula as required.

	a) SO3
b) Mg(OH)2
c) CaCl2
d) HNO3

e) HBr
f) FeCl2
	
	g) dichlorine monoxide

h) potassium chlorate

i) lithium nitride

j) sulphuric acid

k) hydrofluoric acid

l) tin(II) chloride
	


7. Translate to word or skeleton equation as required.

a) aluminum + iron(II) chloride (  iron + aluminum chloride

b) NaOH + H3PO4( Na3PO4 + H2O
8. Draw a pH scale that includes the following labels: strongly acidic, weakly acidic, neutral, weakly basic, strongly basic.
9. Predict the products, reaction type, and balance as needed.
a. ___ CuO(   ___ Cu  + ___O2



type: ________________________

b. ___HCl  + ___Ba(OH)2(




type: ______Neutralization_______

c. ___ Cl2 + ___NaI( ___ I2 + ___NaCl


type: ________________________

d. ___H2SO4 + ___NaCl(




type: ___Double Displacement____

e. ___Fe2O3 + ___Al (




type: ____Single Displacement____

f. ___Ca(OH)2  +  ___HNO3( ___Ca(NO3)2 + ___H2O
type: ________________________

g. ___H2  +  ___O2( ___H2O




type: ________________________

h. ___N2  + ___H2(





type: ________Synthesis_________

i. ___K  + ___O2  ( ___K2O




type: ________________________

j. ___NaOH + ___H3PO4( ___Na3PO4 + ___H2O

type: ________________________

k. ___PbO  (





type: ______Decomposition______

	DAY 2 REVIEW

	OPTICS 

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet
	☐ re-do Optics  Unit Test 1 & 2


Unit Checklist

☐I understand light and its properties

☐I can arrange colors of light based on wavelength

☐I can name, define, and provide examples of the different sources of light

☐I can create ray diagrams for planar and curved mirrors, converging and diverging lenses, to predict the qualitative characteristics of images produced
☐I can use the mirror and image equations to determine the properties and location of an image mathematically for curved mirrors and lenses
☐I understand refraction and can predict how light will bend when moving from one media to another

☐I can use the equation of refraction to determine the refractive index or speed of light in a specific media

☐I am familiar with the construction of various optical technologies

	1. In overhead projectors the … 
	

	a) Diverging lens enlarges the image and the plane mirror laterally inverts it

b) Diverging lens reduces the image and the plane mirror laterally inverts it

c) Converging lens enlarges the image and the plane mirror laterally inverts it

d) Converging lens reduces the image and the plane mirror laterally inverts it
	

	d) 
	

	
	

	2. The SALT for a plane mirror is always 
	

	a) L:  Same distance, same side of mirror, A: Upright, S: Same Size, T: Real image

b) L:  Same distance, same side of mirror, A: Upright, S: Same Size, T: Virtual image

c) L:  Same distance, other side of mirror, A: Upright, S: Same Size, T: Real image

d) L:  Same distance, other side of mirror, A: Upright, S: Same Size, T: Virtual Image
	

	e) 
	

	
	

	3. The production of light created from the striking of specific crystals is....
	

	a) Incandescence

b) Fluorescence

c) Phosphorescence  

d) Triboluminescence
	

	f) 
	


4. What are the conditions necessary for and provide an example of partial reflection and refraction.

5. What are the conditions necessary for and provide an example of total internal reflection.

6. What would be the SALT for a 5.6cm tall object positioned 15 cm from a plane mirror?

7. A light ray is travelling first through acrylic (n = 1.49) then through ice (n = 1.31).

a) Which way will the light bend and is it speeding up or slowing down?

b) Calculate the speed while the light travelled through each medium.
c) Draw a refraction diagram to show the pathway of the light ray through the two mediums. 

8. Harry Potter has dropped his treasured shard of Sirius’ mirror amongst some magical flames.  He plans to use a summoning charm but is unsure how to aim.  Air has a refractive index of 1.00 and flames 0.76.  Should he aim his spell above, below, or directly at where the shard appears in the flames?  Justify your answer, include a diagram.  

9. A 1.1 cm object is located 2 cm from the vertex.  The concave mirror has a radius of curvature of 2.4 cm determine the location and height of the image with a ray diagram.  Be sure to include the image’s SALT characteristics.
	[image: image1.png]



	
	S:

A:

L:

T:




10. A convex mirror has a focal length of 2 cm.  If a 2 cm object is located 5 cm in front of the mirror determine the location and height of the image with a ray diagram.  Be sure to include the image’s SALT characteristics.
	[image: image2.png]



	
	S:

A:

L:

T:




11. A 1 cm object is located 6 cm from the optical center of a converging lens.  If the converging lens has a focal length of 2.5 cm determine the location and height of the image with a ray diagram.  Be sure to include the image’s SALT characteristics.
	[image: image3.png]
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L:
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	DAY 3 REVIEW

	BIOLOGY

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet
	☐ re-do Biology  Unit Test


Unit Checklist

☐I understand the cell cycle and am comfortable with its 3 phases and what occurs during each
☐ I understand the importance of the cell cycle for organisms, the reasons for cellular division and factors that can influence this process
☐ I understand the origin and purpose of specialized cells for both plants and animals
☐ I know the organizational hierarchy, the various tissue types, organs, and systems for both plant and animals and can provide detailed examples related to each

☐I can explain and provide examples of the interdependence of various organ systems
☐ I understand what cancer is, how it spreads, and how it can be treated
	1. Which of the following is NOT a reason for cell division in a multicellular organism 

	a) Reproduction

b) Reparation of damaged cells

c) Organizational hierarchy (becoming multicellular)

d) All of the above are correct reasons
	

	g) 
	

	
	

	2. Which of the following is NOT a phase of the cell cycle 
	

	a) Interphase

b) Prophase

c) Mitosis

d) Cytokinesis
	

	h) 
	

	
	

	3. Which of the following is a treatment for cancer? 
	

	a) Biophotonics

b) Surgery

c) Radiation

d) All are treatments for cancer
	

	i) 
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	1. 
	2. 
	3. 


j) Label each stage of mitosis.
k) What order should they have been placed in?

l) Is this a plant or animal cell undergoing mitosis, how can you tell?

4. Name an organ system and explain how it depends on or is connected to 2 other organ systems.                     
5. List the 4 types of tissues found in animals.  Give an example of an organ/structure that the tissue is found in and name the system that organ/structure is found in. 
6. What are the 3 phases of the cell cycle and what typically occurs at each?
7. What 2 stages of the cell cycle are considered to be cellular division?
8. What are the 3 reasons for cellular division?

9. What are the 3 influences on cellular differentiation and provide an example of each.

10. What are stem cells and why are they important to cell specialisation?

11. What are meristem cells and why are they important to cell specialisation?

12. Go through the main function of each organ system, both plant and animal, mentioned this year.
13. Go through the circulatory, digestive, and musculoskeletal systems in detail with a focus on tissue, organ, and system interactions.

14. List the tissue types found in plants and provide an example of each.

15. Name the plant organs and specify whether they are most likely to be a part of the root or shoot system.

	DAY 4 REVIEW

	CLIMATE CHANGE

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet


Unit Checklist

☐I can describe the principal components of Earth’s climate system

☐I can explain heat transfer and albedo for each of the principal components

☐I know what greenhouse gases are and their affect on climate change

☐I know natural and anthropogenic sources and sinks for each of the greenhouse gases

☐I can describe indicators of climate change and how they are measured

☐I can make a difference in my lifestyle and promote to others the advantage of reducing their carbon footprint

☐I understand that there are both good and bad effects of climate change and can provide examples

	1. Order the gases in their ability to trap infrared energy from least to greatest:  
	

	a) methane, carbon dioxide, nitrous oxides

b) nitrous oxides, carbon dioxide, methane
c) carbon dioxide, nitrous oxides, methane
d) carbon dioxide, methane, nitrous oxides
	

	m) 
	

	
	

	2. Earth’s climate system does not include 
	

	a) lithosphere
b) living things
c) cinesphere
d) hydrosphere
	

	n) 
	

	
	

	3. Which sequence shows an accurate chain of energy transfer on Earth? 
	

	a) Solar energy ( wind ( surface ocean currents

b) Earth’s rotation ( solar energy ( volcanic eruptions

c) Solar energy ( tectonic plates ( climate

d) weather ( climate ( greenhouse effect
	

	o) 
	

	
	

	4. Which is an anthropogenic source of methane?
	

	a) refrigerants
b) rice cultivation 
c) swamps

d) motor vehicles
	

	e) 
	

	
	

	5. Which of the following is not a greenhouse gas?
	

	a) nitrous oxides

b) ozone

c) carbon dioxide

d) halogens


	

	e) 
	

	6. Plugged in appliances that use energy even when powered off are considered to have
	

	a) Vampire loads

b) Dracula loads

c) Edward Cullen loads

d) Power sucking loads
	

	a) 
	


7. Compare the natural greenhouse effect to the anthropogenic greenhouse effect.

8. Describe the components of and method of heat transfer for the hydrosphere, lithosphere, and atmosphere.

9. List and define 4 indicators of climate change.

10.   Describe the difference between a source and a sink.

11. Name a greenhouse gas and list both an anthropogenic and natural source, and a single sink for this gas.

12. Give examples of both benefits and drawbacks to climate change affecting an area.

13. How can it be warm enough in early spring to wear shorts but not warm enough to go swimming?

14. Why are many rooftops in Canada often made or darker materials while rooftops in tropical communities are made of lighter colours?

15. What is thermal expansion?

16. In terms of energy entering and exiting the earth’s atmosphere what is global warming?

	SNC 2D: Review for Final Examination Solutions


Reading these without trying them for yourself is not beneficial to you
	DAY 1 REVIEW

	CHEMISTRY 


1. Indicate whether each is a physical or a chemical change.  Then supply the evidence that lead you to your decision.
a. Leaves turn colors in autumn    P or C   __Change is color______________________________________

b. A marshmallow is toasted over a fire  P or C   __Change in colour, odour_________________________

c. The ingredients of a salad are tossed  P or C   __Change in form_________________________________

d. Old receipts are shredded in a paper shredder P or C   __Change in form__________________________

e. An apple rots in the sun    P or C   __Change in color, change in odour, release of gas________________

2. If 10g of Aluminum sulphate is reacted with 15g of Calcium hydroxide and 12g of Aluminum hydroxide and an unknown amount of Calcium sulphate is produced.  You, nearing completion of SNC 2D know how to determine the unknown mass of the remaining product.  You coolly tell your scientific team it must be....
mAluminum sulphate + m Calcium hydroxide = m Aluminum hydroxide + m Calcium sulphate

10g + 15g = 12g + m Calcium sulphate

mCalcium sulphate = 13g

	3. If the atoms were counted in Ga(NO3)2 the totals would be….
	

	a) 2 Gallium, 2 Nitrogen, and 6 Oxygen

b) 2 Gallium, 1 Nitrogen, and 5 Oxygen

c) 1 Gallium, 2 Nitrogen, and 6 Oxygen

d) 1 Gallium, 1 Nitrogen, and 5 Oxygen
	C

	p) 
	

	
	

	4. In the process of neutralization….
	

	a) An ionic salt and water are formed as products

b) An ionic salt, water, and Carbon dioxide are formed as products

c) Neither A or B accurately depict the products

d) Both A and B are possible depending on the base used
	D

	q) 
	

	
	

	5. We balance chemical equations…
	

	a) Because mass is conserved in reactions

b) Because atoms are neither created or destroyed in reactions

c) Both A and B

d) Neither A or B are the reason
	C

	r) 
	


6. Convert between name and chemical formula as required.

	a) SO3
b) Mg(OH)2
c) CaCl2
d) HNO3

e) HBr
f) FeCl2
	Sulphur trioxide
Magnesium hydroxide

Calcium chloride

Nitric acid

Hydrobromic acid

Iron(II) chloride
	g) Dichlorine monoxide

h) Potassium chlorate

i) Lithium nitride

j) Sulphurous acid

k) Hydrofluoric acid

l) Tin(II) chloride
	Cl2O
KClO3
Li3N

H2SO3

HF

SnCl2


7. Translate to word or skeleton equation as required.

a) Aluminum + iron(II) chloride (  iron + aluminum chloride
Al + FeCl2( Fe + AlCl3
b) NaOH + H3PO4( Na3PO4 + H2O
Sodium hydroxide + Phosphoric acid ( Sodium phosphate + Dihydrogen monoxide
8. Draw a pH scale that includes the ratios of H+ to OH- at the ends and center of the scale. Also include the following labels: strongly acidic, weakly acidic, neutral, weakly basic, strongly basic.

              0




            7




14


strongly acidic                                 weakly acidic      neutral        weakly basic                                       strongly basic

[H+] > [OH-]

[H+] = [OH-]



[OH-] > [H+]

9. Predict the products, reaction type, and balance as needed.
a. _2_CuO(   _2_ Cu  + _1_O2



type: ______Decomposition______
b. _2_HCl  + _1_Ba(OH)2( _1_BaCl2   + _2_H2O

type: ______Neutralization_______
c. _1_ Cl2 + _2_NaI ( _1_ I2 + _2_NaCl


type: ____Single Displacement____

d. _1_H2SO4 + _2_NaCl ( _2_HCl + _1_Na2SO4

type: ___Double Displacement____

e. _1_Fe2O3 + _2_Al ( _2_Fe + _1_Al2O3


type: ____Single Displacement____

f. _1_Ca(OH)2  +  _2_HNO3( _1_Ca(NO3)2 + _2_H2O
type: ______Neutralization_______
g. _2_H2  +  _1_O2( _2_H2O



type: ________Synthesis_________

h. _1_N2  + _3_H2( _2_NH3



type: ________Synthesis_________

i. _4_K  + _1_O2  ( _2_K2O



type: ________Synthesis_________

j. _3_NaOH + _1_H3PO4( _1_Na3PO4 + _3_H2O

type: ______Neutralization_______
k. _2_PbO  ( _2_ Pb + _1_O2



type: ______Decomposition______

	DAY 2 REVIEW

	OPTICS 

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet
	☐ re-do Optics  Unit Test 1 & 2


Unit Checklist

☐I understand light and its properties

☐I can arrange colors of light based on wavelength

☐I can name, define, and provide examples of the different sources of light

☐I can create ray diagrams for planar and curved mirrors, converging and diverging lenses, to predict the qualitative characteristics of images produced

☐I can use the mirror and image equations to determine the properties and location of an image mathematically for curved mirrors and lenses

☐I understand refraction and can predict how light will bend when moving from one media to another

☐I can use the equation of refraction to determine the refractive index or speed of light in a specific media

☐I am familiar with the construction of various optical technologies

	1. In overhead projectors the … 
	

	a) Diverging lens enlarges the image and the planar mirror laterally inverts it

b) Diverging lens reduces the image and the planar mirror laterally inverts it

c) Converging lens enlarges the image and the planar mirror laterally inverts it

d) Converging lens reduces the image and the planar mirror laterally inverts it
	C

	s) 
	

	
	

	2. The LOST for a planar mirror is always 
	

	a) L:  Same distance, same side of mirror, O: Upright, S: Same Size, T: Real image

b) L:  Same distance, same side of mirror, O: Upright, S: Same Size, T: Virtual image

c) L:  Same distance, other side of mirror, O: Upright, S: Same Size, T: Real image

d) L:  Same distance, other side of mirror, O: Upright, S: Same Size, T: Virtual Image
	D

	t) 
	

	
	

	3. The production of light created from the striking of specific crystals is....
	

	a) Incandescence

b) Fluorescence

c) Phosphorescence  

d) Triboluminescence
	D

	u) 
	


4. What are the conditions necessary for and provide an example of partial reflection and refraction.

Light must be travelling from a more refractive to a less refractive medium at an angle of incidence equal to or less than the critical angle.  An example of this is looking in a window pane as the light goes from the glass to the air some is reflected back (so you see your face) and some refracts through (so you see the scenery on the other side of the window).
5. What are the conditions necessary for and provide an example of total internal reflection.
Light must be travelling from a more refractive to a less refractive medium at an angle of incidence greater than the critical angle.  An example of this is the sparkle of a diamond.  As light travels form the diamond to the air it is reflected back into the diamond and reflects on the diamonds facets before exiting.
6. What would be the LOST for a 5.6cm tall object positioned 15 cm from a planar mirror?
L:  Appears 15 cm away, other side of mirror.  O:  Upright   S:  5.6 cm   T:  Virtual image
7. A light ray is travelling first through acrylic (n = 1.49) then through ice (n = 1.31).

a) Which way will the light bend and is it speeding up or slowing down?
The light will bend away from the normal and speed up.

b) Calculate the speed while the light travelled through each medium.
	Given 1 acrylic
n =  1.49

c = 3.00 x108 m/s

v = ?
	n = [image: image9.png]



1.49 = [image: image11.png]3.00x 10°




1.49v = [image: image13.png]3.00 x 10°




v = 2.01[image: image15.png]x 10°



  m/s


	Given 2 ice
n =  1.31

c = 3.00 x108 m/s

v = ?
	n = [image: image17.png]



1.31 = [image: image19.png]3.00x 10°




1.31v = [image: image21.png]3.00 x 10°




v =2.29 [image: image23.png]x 10°



 m/s




c) Draw a refraction diagram to show the pathway of the light ray through the two mediums. 



8. Harry Potter has dropped his treasured shard of Sirius’ mirror amongst some magical flames.  He plans to use a summoning charm but is unsure how to aim.  Air has a refractive index of 1.00 and flames 0.76.  Should he aim his spell above, below, or directly at where the shard appears in the flames?  Justify your answer, include a diagram.  


	Harry should aim above where the shard appears because the light travels from a more refractive medium to a less refractive medium and will bend away from the normal causing the shard in the flames to appear further away than it really is. 





9. A 1.1 cm object is located 2 cm from the vertex.  The concave mirror has a radius of curvature of 2.4 cm determine the location and height of the image with a ray diagram.  Be sure to include the image’s LOST characteristics.

	[image: image24.png]



	
	L:  3 cm from mirror, same side
O:Inverted
S: Larger, 1.7 cm tall
T: Real image



10. A convex mirror has a focal length of 2 cm.  If a 2 cm object is located 5 cm in front of the mirror determine the location and height of the image both algebraically.  Be sure to include the image’s LOST characteristics.
	[image: image25.png]



	
	L:  1.4 cm from mirror, other side
O: Upright
S: Smaller, 0.6 cm 
T:  Virtual image



11. A 1 cm object is located 6 cm from the optical center of a converging lens.  If the converging lens has a focal length of 2.5 cm determine the location and height of the image both algebraically and with a ray diagram.  Be sure to include the image’s LOST specific to your calculated values.
	[image: image26.png]



	
	L:  4.3 cm from lens, other side
O: Inverted
S: Smaller, 0.7 cm tall
T: Real image


	DAY 3 REVIEW

	BIOLOGY

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet
	☐ re-do Biology  Unit Test


Unit Checklist

☐I understand the cell cycle and am comfortable with its 3 phases and what occurs during each

☐ I understand the importance of the cell cycle for organisms, the reasons for cellular division and factors that can influence this process

☐ I understand the origin and purpose of specialized cells for both plants and animals

☐ I know the organizational hierarchy, the various tissue types, organs, and systems for both plant and animals and can provide detailed examples related to each

☐I can explain and provide examples of the interdependence of various organ systems

☐ I understand what cancer is, how it spreads, and how it can be treated

	1. Which of the following is NOT a reason for cell division in a multicellular organism 

	a) Reproduction

b) Reparation of damaged cells

c) Organizational hierarchy (becoming multicellular)

d) All of the above are correct reasons
	A

	v) 
	

	
	

	2. Which of the following is NOT a phase of the cell cycle 
	

	a) Interphase

b) Prophase

c) Mitosis

d) Cytokinesis
	B

	w) 
	

	3. Which of the following is a treatment for cancer? 
	

	a) Biophotonics

b) Surgery

c) Radiation

d) All are treatments for cancer
	D

	x) 
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	1. Anaphase

	2. Metaphase
	3. Prophase
	4. Telophase


a) Label each stage of mitosis.

b) What order should they have been placed in?    3,2,1,4
c) Is this a plant or animal cell undergoing mitosis, how can you tell?  Plant cell (cell walls, lack of cleavage furrow in telophase).
4. Name an organ system and explain how it depends on or is connected to 2 other organ systems. 
Answers will vary e.g. The circulatory system aids both the respiratory and digestive systems by transporting their products.  However the cells of the circulatory system need nutrients from the digestive system and oxygen from the respiratory system to function.

5. List the 4 types of tissues found in animals.  Give an example of an organ/structure that the tissue is found in and name the system that organ/structure is found in. 
	Tissue Type
	Organ/Structure Tissue is Found in
	System Organ is Found in

	Epithelial Tissue


	Varies e.g. Epidermis
	Integumentary System

	Muscle Tissue


	Varies e.g. Heart
	Circulatory System

	Nerve Tissue


	Varies e.g. Brain
	Nervous System

	Connective Tissue


	Varies e.g. Bone
	Skeletal System


6. What are the 3 phases of the cell cycle and what typically occurs at each?
Interphase, mitosis, and cytokinesis are the 3 phases of the cell cycle.  Interphase is typically a period of growth, repair, and DNA replication.  Mitosis is the organization of a cell’s DNA and cytoplasm contents for cell division.  Cytokinesis is the physical separation of the parent cell to two daughter cells.

7. What 2 stages of the cell cycle are considered to be cellular division?
Mitosis and cytokinesis.

8. What are the 3 reasons for cellular division?
Single celled organisms use cellular division for reproduction.  Multicellular organisms use cell division to repair damaged cells and for cell specialization to become multicellular organisms.

9. What are the 3 influences on cellular differentiation and provide an example of each.
Environmental conditions, i.e. temperature, moisture, light
Cytoplasm content, i.e. epithelial cells lining the trachea would have a lot of golgi bodies for mucous production
Neighbouring cells, i.e. chemicals from neighbouring cells stimulate differentiation: if the neighbouring cell is a muscle cell the new cell will also be one

10. What are stem cells and why are they important to cell specialisation?
Stem cells are undifferentiated cells in animals that can reproduce themselves or specialize.  This is important because specialized cells are needed for various functions including forming tissues.
11. What are meristem cells and why are they important to cell specialisation?

Meristem cells are undifferentiated cells in plants that can reproduce themselves or specialize.  This is important because specialized cells are needed for various functions including forming tissues.
12. Go through the main function of each organ system, both plant and animal, mentioned this year.
See your notes or test.
13. Go through the circulatory, digestive, and respiratory systems in detail with a focus on tissue, organ, and system interactions.

See your notes or test review.
14. List the tissue types found in plants and provide an example of each.

Dermal e.gperidem or epidermal

Vascular e.g. xylem or phloem

Ground tissue e.g. mesophyll or palisade tissue

15. Name the plant organs and specify whether they are most likely to be a part of the root or shoot system.

Flower – shoot system

Leaf – shoot system

Stem – shoot system

Root – root system

	DAY 3 REVIEW

	CLIMATE CHANGE

	☐ review your notes
	 SEQ CHAPTER \h \r 1☐  complete this worksheet


Unit Checklist

☐I can describe the principal components of Earth’s climate system

☐I can explain heat transfer and albedo for each of the principal components

☐I know what greenhouse gases are and their affect on climate change

☐I know natural and anthropogenic sources and sinks for each of the greenhouse gases

☐I can describe indicators of climate change and how they are measured

☐I can make a difference in my lifestyle and promote to others the advantage of reducing their carbon footprint

☐I understand that there are both good and bad effects of climate change and can provide examples

	1. Order the gases in their ability to trap infrared energy from least to greatest:  
	

	a) Carbon dioxide, methane, halocarbons, nitrous oxides

b) Carbon dioxide, halocarbons, methane, nitrous oxides

c) Carbon dioxide, nitrous oxides, methane, halocarbons

d) Carbon dioxide, methane, nitrous oxides, halocarbons
	D

	y) 
	

	
	

	2. Guelph is part of the…. 
	

	a) St. Laurent Low Lands ecoregion

b) Frontenac Axis ecoregion

c) Manitoulin-Lake Simcoe ecoregion

d) Lake Erie Low Lands ecoregion
	D

	z) 
	

	
	

	3. Which sequence shows an accurate chain of energy transfer on Earth? 
	

	a) Solar energy ( wind ( surface ocean currents

b) Earth’s rotation ( solar energy ( volcanic eruptions

c) Solar energy ( tectonic plates ( climate

d) weather ( climate ( greenhouse effect
	A

	aa) 
	

	
	

	4. Which is an anthropogenic source of methane
	

	a) Wetlands

b) Permafrost

c) Rice cultivation

d) Anaerobic bacteria
	C

	e) 
	

	
	

	5. Which of the following is not a greenhouse gas
	

	a) Nitrous oxides

b) Ozone

c) Carbon dioxide

d) Halogens
	D

	e) 
	

	
	

	6. Plugged in appliances that use energy even when powered off are considered to have

	a) Vampire loads

b) Dracula loads

c) Edward Cullen loads

d) Power sucking loads
	A

	b) 
	


7. Compare the natural greenhouse effect to the anthropogenic greenhouse effect.

The greenhouse effect is the cycling of warming and cooling of the earth and green house gas levels.  In the natural greenhouse effect the greenhouse gases trap and re-emit infrared energy; this necessary to keeping the Earth at temperatures that sustain life and has many sources and sinks.  The anthropogenic greenhouse effect regards human contributions of greenhouse gases as overwhelming to the natural cycle and accelerating the rate of global warming.
8. Describe the components of and method of heat transfer for the hydrosphere, lithosphere, and atmosphere.

The hydrosphere is comprised of all the water content on earth.  This in majority is the oceans. Oceans are excellent heat sinks. Uneven distribution of heat and salt creates currents that circulate the thermal energy. 

The lithosphere is comprised of the earth’s landmasses.  Shifting tectonic plates change the shape of land masses and bodies of water affecting the amounts of thermal energy being transmitted, reflected, or absorbed by a surface.  Smaller events such as volcanoes can have short term effects on the heat transfer within the lithosphere as well.

The atmosphere is composes of the gaseous components of the Earth; air of different densities shift due to pressure differences to create convection currents such as prevailing winds or jet streams.
9. List and define 4 indicators of climate change.
Rising temperatures – Average global temperature data are analyzed to determine trends. 
Changing weather patterns – Changes in storm intensity, precipitations levels, heat wave intensity, and frequency of extreme weather are considered.
Rising sea levels – The amount of thermal expansion and changing water levels at coastlines are considered.
Changes in season – Season length, precipitation patterns, and timing are measured and compared to previous year’s data.

Changes in ecosystems - Patterns of flora and fauna presence and emergence are studied.
10.   Describe the difference between a source and a sink.
A source releases a greenhouse gas into the atmosphere and a sink removes it from the atmosphere.
11. Name a greenhouse gas and list both an anthropogenic and natural source, and a single sink for this gas.
See chart in your note on greenhouse gases.  Answers will vary.

12. Give examples of both benefits and drawbacks to climate change affecting an area.
Aspects of climate change can be both good and bad for different regions.  For example warmer weather can be beneficial to an area if it improves quality of life or the economy.  Great Britain has experienced warmer temperatures that enable them to grow grapes for wine.  Warmer weather can also be a drawback.  Increased bush fires and drought have been devastating to some areas of Australia.

13. How can it be warm enough in early spring to wear shorts but not warm enough to go swimming?
Land, air, and water have different specific heat capacities.  It takes more energy to raise the temperature of water than it does for air or land.  Subsequently air and land heat up more quickly and can have a larger variance in temperature than water.  This is why the land and air can heat up to warm temperatures while the water has not yet absorbed enough energy to warm to a comfortable temperature.

14. Why are many rooftops in Canada often made or darker materials while rooftops in tropical communities are made of lighter colours?
It is due to albedo.  Albedo is a surfaces ability to reflect light.  Darker colors have a low albedo and absorb more thermal energy; this is beneficial to areas with cooler climates like Canada.  Lighter colors have a higher albedo reflecting more light from their surfaces.  This absorbs less thermal energy keeping houses in tropical areas cooler.
15. What is thermal expansion?
Water’s changing density with changing temperatures.  Warmer water takes up more volume than cooler water.
16. In terms of energy entering and exiting the earth’s atmosphere what is global warming?
Global warming is when the amount of thermal energy reaching earth exceeds the amount exiting.
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